
Opérations avec deux fractions mixtes (D)

Nom: Date: Note:

Calculez chaque résultat.

1. 514 ÷ 2 917 =

2. 545 + 2 110 =

3. 518 ÷ 435 =

4. 559 + 123 =

5. 512 ÷ 51317 =

6. 515 − 1 310 =

7. 512 − 212 =

8. 112 × 534 =

9. 527 × 11117 =

10. 534 − 4 120 =

MathsLibres.com



Opérations avec deux fractions mixtes (D) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 514 ÷ 2 917 = 21
4 ÷ 43

17 = 21
4 × 17

43 = 357
172 = 2 13172

2. 545 + 2 110 = 29
5 + 21

10 = 58
10 +

21
10 = 79

10 = 7 910

3. 518 ÷ 435 = 41
8 ÷ 23

5 = 41
8 × 5

23 = 205
184 = 1 21184

4. 559 + 123 = 50
9 + 5

3 = 50
9 + 15

9 = 65
9 = 729

5. 512 ÷ 51317 = 11
2 ÷ 98

17 = 11
2 × 17

98 = 187
196

6. 515 − 1 310 = 26
5 − 13

10 = 52
10 −

13
10 = 39

10 = 3 910

7. 512 − 212 = 11
2 − 5

2 = 11
2 − 5

2 = 6
2 = 3

1 = 3

8. 112 × 534 = 3
2 ×

23
4 = 69

8 = 858

9. 527 × 11117 = 37
7 × 28

17 = 1036
119 = 148

17 = 81217

10. 534 − 4 120 = 23
4 − 81

20 = 115
20 − 81

20 = 34
20 = 17

10 = 1 710
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